
S
PA

R
E

 P
A

R
T

S
 IN

S
T

R
U

M
E

N
T

 S
TA

N
D

S

14985.000.55 black

SI
14985

14985 Trombone Stand

-9/05-

pos. description art.-no. qty

1 allen screw M5 x 30 mm 03.02.165.00 3
2 leg complete, consisting of: 7.143.700455 3
2.1 end cap 01.94,890.55 1
2.2 leg tubing 02.86.110.55 1
3 locking nut M5 03.08.210.29 3
4 knurled knob M6 x 22 mm 01.82.838.55 1
5 plastic locking spacer clp. 6.86642.1.55 1
6 knurled knob M6 x 16 mm 01.82.834.55 2
7 plastic locking spacer clp. 6.86633.1.55 1
8 locking nut M6 03.08.305.00 1
9 plastic locking spacer 01.86.635.55 1

10 rubber peg 01.84.355.55 1
11 end cap 01.94.887.55 1

1

4

5

6

7

8

6

9
10

11

3

2
2.1

2.2


